HIE s =1/40

[ JstE+x

Bm B.P+11.0

— ‘
| P |
[ ]
r - 1 wAR
b | L
' [
I i, |
#E B.P+4.0
-
‘ o ‘
,_i\ e -
. mm
-
| [l
I i, |
#A B.P

2,200

2

2

.2m

@ o
[l
e -

2

@ o
Il

2

.2m

Il
e -

2

.3m
.2m

@ o
Il
o —

2

Il
e -

2

.2m

@ O

4 HI
HEERL

B =

740

2100

B.P+42.0

B =

=E

B.P+31.1

2,200

s R

c=1.3m
B=0.2m
[Zew]
] N
| E
¥ 4 C=1.4m
B=0.2m
Q i
-
— C=1.4m
B=0.2m

BEHER S=1/20

#iEBT A B R A EefRl 500 x 5008

1,050

2,400~2,800

L FHEE

HU-360BH#E =

M= BP
0.085x4.0=0.34
#m B.P+11.0~42.0
0.085x31.0=2.64
0.34+2.64=2.98
2.98m3

HEwT A B B QA AE300x 4008 &

B = B.P+4.0~11.0
0.127x7.0=0.89
0.89m3

2.98+0.89=3.87m3

St
#HRL

8
=
=

A=

+
=50en|

B U-360B

HE&K L=1.00m

58

490

A=0.085m (CADZtAI)

'
500

0.127m (CADEH )

SHTFEE EEERRREX

EI33SHIE
-#E | #R EF

REFET  HRET
BT3E 1333543

HEES 2/3

REHTRI5EROKER




B AEAIE (500 % 500)
$=1:20

ik i T V=1:100 — Sfﬁfggx)ﬁém@

CkgsatEsemme)  H=1:500
0 5 EH £ £ A B2 813§ 500 x 500
BB R

7/ /IENEL/ / / —
[[11] ez 1117 o |y

790

kBt (900 x 900 x 750)

750.00

axw
i
| | /
| —
745. 00 —_—
RT4F B T 566
BHAEAE (500%500) L=42.0m
L=42.0m —
740.00 | / ==
/ /
/
/2 —
—
/
—
L3
735.00
DL=730. 00
B kDR ( () T
BRA s & g = s 5 = 3 = 2 e & 9
EHRBEREB ) : : LI : : 3
BB K B X i Pii E H H H H i H H R N H
by ok B I : - - : : ;3 S - : 3 - :
FHIFE EABEARE
5 o - - o - - - -~ - - - - = - - - - - - BT 1333 BRI H
B M BE OB E = = i - H e H H E z H ] - & H & —wE ||$ER'T'
- - - - . R ~ N N REAT g
B b P B = T s z= H z z H H N B 2 s = 8 BT 1333%48
7 . FR- iz i Z i : H F g - - HE&S 3/3
’ == R = HE H [ H H H H H H [ H H H BN ESEEER




FTERRR

BERME

FER Ss=1/500

=
o
X

MIER L[=42.0m W=2.4~2.8m

FARI77ILAEET A=110m
#EW A B BRI B2 4RI 7500 x 5008 =42, Om

.
S/l

.

\

.
§
o

4
0v+d g

1+d g
ble+d g

/// 0Zh+d g

T Ltrdg
Y

RFERE s=1/100

L 'G¢+d 9

B

Th+d g

Dz 40 e 7.0 S 14.7 NS 5.4 e 10.9 d
S U608 D] itk A & /e300 x 4005 =U-3608 T TIEETEEE
BTE 1333543 TH
—u® | #R =x
{ 4,000 J 7,000 J 31,000 REAT FiAT
ET3E 1333542
HEES 1/3

REFHTRIHEZRKER






